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Compound loci are represented by the set of points that satisfy two or more locus
conditions at the same time.

Step 1: Identify the first locus condition, and describe this locus using a diagram.

Step 2: Identify the second locus condition, and describe this locus using the same
diagram.

Step 3: Determine the point or points, if any, at which the loci intersect.

Examples:

1. Point P in on line £. Find the locus of points that are 2 inches from line £ and
also 2 inches from point P.

2. Two parallel lines are 8 inches apart. Point P is located on one of the lines. Find
the number of points that are equidistant from the parallel lines and are also at a
distance from point P of:

a. 5inches b. 4 inches c. 3 inches




[image: image2.png]3. How many points are 3 units from the origin and 2 units from the y — axis?
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. Given points 4(2,7) and B(6,7):
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a. Describe the locus of points equidistant from points A and B.

b. Describe the locus of points from the x and y axes.

c. How many points satisfy both conditions obtained in parts b and c¢?
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5. On the set of axes below, sketch the points that are 5 units from the origin and
sketch the points that are 2 units from the line y=3. Label with an X all points
that satisfy both conditions.





[image: image3.png]6. A city is planning to build a new park. The park must be equidistant from school
4 at (3,3) and school B at (3,-5). The park also must be exactly 5 miles from the
center of town, which is located at the origin on the coordinate graph. Each unit
on the graph represents 1 mile. On the set of axes below, sketch the compound
loci and label with an X all possible lyocations for the new park.

7. Maria’s backyard has two trees that are 40 feet apart, as shown in the
accompanying diagram. She wants to place lampposts so that the posts are 30 feet
from both of the trees. Draw a sketch to show where the lampposts could be
placed in relation to the trees. How many locations for the lampposts are possible?

40 ft

8. In the diagram below, town C lies on straight road p. Sketch the points that are 6
miles from town C. Then sketch the points that are 3 miles from road p. How
many points satisfy both conditions?
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1. Given point P on AB. What is the total number of points that are 4cm from AB and 10 cm from point

P?

EXAMPLES

?

m?

2. What is the total number of points equidistant from intersecting lines m and n and also 3 in from line




